MATH180C: Introduction to
Stochastic Processes Il

Today: Conditioning on continuous
random variables

Next: PK 7.1, Durrett 3.1

Week 4.
“ HW3 due Saturday, April 29 on Gradescope

® Midterm 1: Friday, April 28
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Example 2 : continmous ond discrete V.S

let NeN, P~Uniflonl, X~Bn(N,P)
What s the distribution of X 7
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Example 3
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Renewal process. Defintion

_D_e_f_ | et {Xiﬁm be ¢id. rvs, X(>0.
Denote W= X+ 4%Xa . n21 and  We:=0,
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Convolutions of c.d.fs

Su.PPose that K and VY ore cndependent r.vs
F. R— o) is the c.df. of X (ie. P(XR<t)=-Fu)).
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Distribution of We
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Renewal Function
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Reloted gquantities
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Rewnewal equation
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